
 

 

 

 

Working as a CCTV Operator 

(Public Space Surveillance) within 

the Private Security (QCF) - 2016 

Mark Scheme 

General Marking Guidance  
 

 

 The total marks for this paper is 60 marks. 

 

 Each question is worth 1 mark. 

 

 To be successful with this paper, candidates must achieve a pass mark of 
42 marks out of 60 marks, or higher. 

 

 Examiners should mark according to the mark scheme not according to 
their perception of where the grade boundaries may lie.  

 

 When examiners are in doubt regarding the application of the mark 
scheme to a candidate’s response, the team leader must be consulted. 

 

 Crossed out work should be marked UNLESS the candidate has replaced it 

with an alternative response. 

 



 

 

 

 

Question Number Answer Knowledge Area Total Mark 

1 C 3.7 (1) 

2 B 4.1 (1) 

3 D 7.1 (1) 

4 B 2.5 (1) 

5 C 5.1 (1) 

6 B 3.4 (1) 

7 D 2.6 (1) 

8 A 2.5 (1) 

9 B 3.8 (1) 

10 B 3.10 (1) 

11 C 7.5 (1) 

12 C 1.5 (1) 

13 A 1.6 (1) 

14 A 1.1 (1) 

15 C 2.3 (1) 

16 B 2.1 (1) 

17 C 3.6 (1) 

18 D 5.4 (1) 

19 A 3.2 (1) 

20 B 7.2 (1) 

 



 

 

 

Question Number Answer Knowledge Area Total Mark 

21 C 2.8 (1) 

22 C 3.1 (1) 

23 D 2.2 (1) 

24 A 3.5 (1) 

25 D 6.4 (1) 

26 D 3.8 (1) 

27 B 5.3 (1) 

28 B 1.2 (1) 

29 A 3.3 (1) 

30 C 1.7 (1) 

31 A 3.5 (1) 

32 B 3.7 (1) 

33 B 6.1 (1) 

34 D 1.3 (1) 

35 B 2.1 (1) 

36 A 6.3 (1) 

37 D 7.4 (1) 

38 D 2.6 (1) 

39 C 2.4 (1) 

40 C 7.3 (1) 

 



 

 

 

Question Number Answer Knowledge Area Total Mark 

41 B 2.7 (1) 

42 C 1.4 (1) 

43 A 2.2 (1) 

44 A 2.7 (1) 

45 A 4.3 (1) 

46 B 4.6 (1) 

47 D 1.6 (1) 

48 D 4.4 (1) 

49 C 5.5 (1) 

50 B 4.2 (1) 

51 A 5.2 (1) 

52 C 4.5 (1) 

53 D 1.1 (1) 

54 B 6.2 (1) 

55 A 2.4 (1) 

56 A 7.4 (1) 

57 C 1.5 (1) 

58 D 6.4 (1) 

59 C 3.4 (1) 

60 C 3.9 (1) 

 

 

    

   Total = 60 Marks  

 

 


